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3 Juooobon
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1. Give an example of a partial function f : N — N that is recursive but is not primitive
recursive.

2. Give an example of a predicate P C N? that is not recursive.
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1. 000 Lemma 3490 1,3000000
2. 000 Exercise 4.2
3. O B-Exercise 50 03 50080
goooooooobooo
Consider the following formulas.
(a) Vo. (P(z) D Q(z)) D Vz. P(x
(b) (Vx.P(x) D Vz.Q(z)) D Va.
(c) V. (P(z) > Q(x)) D 3. Pz
(d) (Fz.P(x) D 3z.Q(z)) D Va.

D Vz.Q(x)
P(z) > Q(x))

D Jz.Q(x)
P(z) > Q())

T
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For each of those formulas, answer

e if it is valid (give a countermodel if it is not);
e if it is derivable (give a derivation tree if it is); and

e if it is satisfiable (give a model that satisfies the formula, if it is).
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